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10.

11.

12.

13.

14.

15.

16.

17.

18.

Solve y'+2xy=xy>+x. [93 & ~NE["AT10%])
Solve xz(y+l)dx+y2(x—l)dy:0. [94 i%*f%’(’ﬁé\%%ﬁ’? 10%]

dy _2y+ycosx

Solve . [92 %’i[}%ﬁ%ﬁ’? 10%])

dx 2x+sinx

Solve y'+%y=y2. [93 [ 57 15%)

Solve cosx(ez“"—y)gze’ sin2x, y(0)=0. [921%7 + 457 5%]
x
Solve (a) (1+x)dy—ydx=0.(b) xy“a’x+(y2 +2)e’3xdy =0. [95 & HSHET 11%])
Solve tan@Odr+2rd8=0. [92 HI’FL??E‘%EI’?IO%]
Solve (xyc:osyz)y’+2siny2 =0. [90 ng\'%{—?&%ﬁ’?7%]

Solve 2sin(y2)dx+xycos(y2)dy:0, y(2)=+z/2 . [91 15 BT 15%]

Solve '+ xy’ secL2 =0. [90 [ A720%])
Y
Solve the differential equation % —2xy° +16x°y* =0. [91 ’F"[ —‘\“F%ﬁ&\%’?l’? 20%])

2
y’—(y—+1—g]:0,Calculatey. (91 3477 B 77 10%)]
X X X

ﬁ%az_ﬂ(xul)ywyul:o > 1(0)=1 < [91 [k FTr 10%]

Solve 4yy'=e"", y(1)=2. [87 it 57 5%]

Slove y7'y'+y7? =1. [88 I"%[F /T 15%]

Slove 12xydx+(1+x*)dy=0, y(2)=5. [88 TR =R 15%])
Slove (y*—2)+2xy°y =0. [90 %1 F$HsT 15%]

Slove y'+10x*y*=0. [89 ’F"f‘\?‘i?[ii\%’?20%]
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19.Slove y'+y=y". [89 7 7 10%]
20. Slove xz(y+l)dx+y2(x—1)dy20. [90 fl ===l H7 10% ]
21. Solve (1+x)(1+ " )dv—axydy =0. [88 J*%[ 53~ 7 8%]

22. Solve (8P—T2P);l—];+(T—TP2) =0. [91 1517 P25 15%]

23. Solve ye”dx+xe”dy=0. [89 J°K]+ F#Hr10%]

24. Solve the following initial value problem:

%—2y2+3y:1, y(O)zl. [93 ’F'}"\j 8% )
X

24






